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Instructions

i)
i)

There are four sections in this quesnon a
er(A,B, C '
In section A th whi ( -

ien ﬁgi:alculator is permttted
umber of each question clearly on the answer book.

Section A |

Q. 1) The method of depreciation that is accepted by the income Tax Act 1961 is i)
¢ Annuity Method

¢ Reducing balance method
e Revaluation method
¢ Straight line method

Q. 2) The limited liability Partnership Act came into existence on . [1]
*=-1932.

e 1956
e 2013
s 2008
Q. 3) Voluntary exit of a partner from the partnership flrm is known as
¢ Dissolution of partnership firm
¢ Admission of a partnership firm
Death of a partner
Retirement of a partner MU“M
Q. 4) When a newv partner brings capital in cash into the partnership firm, the account cheleed
ISE At 4L [1] |
¢ Old partner capital Account
¢ New partner capital Account
Profit and Loss Account
Revaluation Account. :
Q. 5) Name the method of depreciation under which the amount of depreciation depends upon

= b )

the quantity of output that can be obtained from that asset. (1]
Q. 6) Who gets a share in the profit or loss on the revaluation on Admission of a partner?  [1)
Q. 7) What is a Partnership Deed? [1]

Q. 8) Define the term “ Partnership’ as per the Indian Partnership Act,1932 [1]



SECTION B

Q. 9) A, Band C were partrn rs sharing profits and Iosses in the ratio of 5:3:2 respectively,

[2]

‘!‘\

Method’ o providing depreciation

: Q 12) Explain uny two objectives of provid ng depreciation

(2]

Q. 13) Explain any two factors determining the amount of depreciation [2]

Q. 14) State any four contents of Partnership Deed. [2]
SECTION C

Q. 15) State six reasons for admnssuon of a new partner into the partnership. [3]

;-Q 16) Explam any three modes of settlement of accounts of a deceased partner. [3]

Q. 17) Pnya and Rnya re'partners sharmg proflt in the ratio of 3:2, They admitted Supriya [3]

as a parwer for1/6" sharein the future pl‘oflt of the firm. ‘Calculate the new profit
sharing ratio of Priya, Riya and Supriya.

Q. 18) Explain any three features of unlimited Partnership. 3]
: OR
Explain aiy three disadvantages of Limited liability Partnership

Q. 19) Give the accounting treatment for the following adjustments in final accounts. [4]
i) Closing stock

ii) Outstanding Rent
iii) Depreciation on furniture
iv) Uninsured goods destroyed by fire

Q. £20)-Drawa ncat proforma of Balance sheet of
ltems on either side 0

a Partnership firm by showing atleast four

[l

Draw a ncat proforma of Profit & Loss Account of a Partnership firm by showing
atleast four items on either side.
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